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QUESTION 1

An organization needs to migrate specialized workloads to the cloud while maintaining their existing complex licensing
and architecture. What Google Cloud solution should the organization use?

A. Compute Engine

B. Bare Metal Solution

C. Cloud Run

D. Cloud Functions

Correct Answer: B

"This solution provides a path to modernize your application infrastructure landscape, while maintaining your existing

investments and architecture. With Bare Metal Solution, you can bring your specialized workloads to Google Cloud,
allowing you access and integration with GCP services with minimal latency."

QUESTION 2

An organization wants to search for and share plug-and-play Al components which can easily build ML services into
their project. Which Google Cloud product should the organi-zation use?

A. Document Al

B. Al Hub

C. Cloud Talent Solution
D. Recommendations Al
Correct Answer: B

Because Al Hub is a hosted repository of plug-and-play Al compo-nents. Reference link:-https://cloud.google.com/ai-
hub/docs/release-notes

QUESTION 3

Your team is working on building a machine learning model. There are a bunch of terminologies that are being used.
What is an "instance" or an "example"?

A. An input variable is used in making predictions. E.g. number of rooms in a house price prediction model.
B. One row of a dataset containing one or more input columns and possibly a prediction result.

C. An answer for a prediction task,?either the answer produced by a machine learning system or the right answer
supplied in training data. E.g. image contains a "cat".

D. The "knobs" that you tweak during successive runs of training a model. E.g. learning rate
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Correct Answer: B

One row of a dataset containing one or more input columns and possibly a prediction result.
https://developers.google.com/machine-learning/guides/rules-of-ml#terminology

QUESTION 4

A large travel company has thus far invested heavily in their technology team. There is strategic pressure on the
company to focus on their core business and innovate to survive in certain geogra-phies and thrive in others. They are
evaluating whether a move to Google Cloud will be good for them. Which of these reasons would be relevant for them?
(choose two answer)

A. Application architecture won\\'t be too involved because of serverless options.

B. The IT team won\\'t have to manage software upgrades, security patches, etc. for the VMs.

C. The IT team won\\'t have to work on procuring and provisioning new hardware and refreshes to existing hardware.

D. Budgeting won\\'t be an issue since the cloud takes care of billing.

Correct Answer: BC

QUESTION 5

An organization currently stores its data on-premises and they receive different levels of traffic on their website every
month. How could the organization benefit from modernizing their infrastructure with cloud technology?

A. They can rely on the cloud provider for all website source code.

B. Agile storage scalability.

C. 100% service availability.

D. They can shift from heavy operational expenditure to a capital expenditure model.
Correct Answer: B

Organizations can scale in the cloud by paying for what they use, when they use it.
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